> Diff(exp(x*2), x):%value(%;
2

d X
— ¥ =2xe"

dx
(> Di ff(exp(x"2), x$2): %val ue(9;
d? X o X 2 X2
Ee =2¢ +4x°e
(> alias(y=y(x));
y
E eq: =x"2+y”"2=c;
eq:=x2+);=c
[ > dydx: =sol ve(diff(eq,x), diff(y,x));
dydx::—5
y

> alias(y=y);
> Diff(exp(a*x*y”*2), x,y$2): %value(%;

03 2 2 2 2
eV =2 ae®™ 1£10a° Y xe™ + 4 gyt ¥ eI

0P 0x
> I nt egrate(x/ (x"3+1),x): % value(%;
X dx:-lln(x+1)+l1n(x2—x+1)+lﬁarctan(l(2x
X +1 3 6 3 3
—1)J?)
=> I ntegrate(x/ (x"3+1),x=1..2): Y% value(%;
2
X 1 1 1
dx= = In(2 — — =1
LX3+1 X 3 n( )+18\/?n 6 n(3)

[> sum(k”7, k=1..20): %val ue(%;
20

> K =3877286700
k=1

=>t::taylor(sin(tan(x))-tan(si n(x)), x=0, 13);
e 1 7 29 o 1913 X+ 0(x13)

"30% T 756 % T 75600

(> Limit((xA2-1)/(2*x72-x-1), x=1): %val ue(%:
>l o2x¥—x—-1 3
> Lini t( cos(x)"N(1/x"3), x=0, right): %val ue(%;
1

3
lim cos(x)® =0
Lim, (x)



diff (e"x72,x)
2 xe(**)

diff(e"x72,x,2)
1x2e?) 4 2.6(<%)
y=function ('y"')(x);dy=y.diff (x);dy
=y ()
ax”
var('c")
c
eq=x 2+y 2==c;eq
24+y(x)P=c
solve (eq. diff(x),dy)

X

0
oy ) =]

reset ();var('y,a, k")

(v a)

diff (e” (a*x*y~2),x,1,y,2)

4a3x2y4e(axy2) +10 32xy2e(axy2) + 2 2e(297)

integrate (x/(x"341),x)

1 1 1 ) 1

3 3arctan g\/§(2x—1) —l—élog(x —X—|—1)—§log(x—i—1)

integrate (x/(x"34+1) ,x,1,2)
1 1 1
— —-=1 = log (2
18\/§7r G og(3)+3 og (2)

sum(k~7,k,1,20)
3877286700

taylor (sin(tan(x))-tan(sin(x)),x,0,11)
1913
A3 29 1 g
75600 756 30

limit ((x72-1)/(2*x72-x-1) ,x=1)
2

3

limit (cos(x) " (1/x73), x=0, dir="+")
0
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